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taught in a case of a domesticated lion and according to X''9

OVERVIEW

X1°27 claimed (according to the X1p0n of the &7n3) that the Xn*>72, which states that
a Pr'IT ¥na 797w 0 pays a "1, is discussing a domesticated lion' according to
X"7. Our mpoIn will offer two differing viewpoints whether this means that the
Xn>72 can also follow the view of X" (and certainly that of the 1127), or it means
that the Xn>72 follows the view of &"9 exclusively.

mooIn explains that X1°27 -
= MP0P) NMAIY NIN 1929 ¥7IOND 9TYHN 29 VP NY

Did not mention (that the Xn>72 is according to) X''9, in order to exclude the j129
(that the Xn™12 cannot agree with the 7127), but rather X" is mentioned for the

novelty (that we may have thought that the X092 is not according to X"9) -
- oYy P NNTYN 90T DINNINT DIYN NN NIT 9INP 29N

And this is what X1°27 meant to say; that you should not assume that the 7n

pays a @''1 because it is usual for the animal to be 59; it is not so -
- 3RPING NN NI DINTIN IND INTT YN 5397 NISYN 7299 Y9N 1999NT

For the Xn» 2 can be discussing even a domesticated lion according to X',
where it is certainly not its manner to be 7710, and nevertheless he will be 2711 a w"1 as

the xn°»13 states. The reason is -
= 99NY U997 TYINTA 13INT

As the X712 continues to explain because it is in a case where he was warned and

he became a 7v 1, and a 7y pays a w"1 -
- 41):‘17 2N MNYIN 2295 2NNPY DYVN ININD)

And for the very same reason that he is obligated to pay a w"1 according to X',
he will be obligated to pay a v"1 according to the j121.

"It is assumable that we are discussing domesticated animals; for otherwise presumably there is no owner to be held
liable.

* The xn*12 would then follow the ruling of the 1321 to the exclusion of X" (who will require only a 1" since it is
not X for N1270 12 to damage) and also (perhaps) reject the view of PXww that it is 71wn for an »X to be 7M.
This is what X1°27 is negating.

’ mooIn may be emphasizing that it is unusual for an N30 *IX to be A7 according to X" (for M2 *12 do not
damage) and especially so if we agree with X1 that any > is not 5.

* It can also follow the view of SX1MWw; since it became a 7Y, the lion’s owner must pay a w"1 even for 770. It would
seem however that (according to this interpretation) the Xn»72 is limited to a case of *X (for by a axt there would be
no need to be 7YX according to the 1127).
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mooin offers a differing interpretation:
= 9TYIN 9295 1Y SPIM RPYTT 9D Y My

And furthermore one can say that X1°37 establishes the Xn>>72 according to X'

exclusively -
= ANT2 122 °9N2 1?2 NP 0NV NMNT OIVN

Because the Xn"2 states an unspecified ;7917 including both a lion and a wolf -
- 579598732 175990 99999 99900 INIIN IND 7291 232 NNT )19 ITYHN 2299

And therefore the Xn>72 is understood (only) according to R''-; since the lion and
the wolf are both domesticated, it is not their manner to be 37, and we are

discussing a case where both the lion and the wolf were warned and became o*7y1.°

Therefore they pay a v"1 -
= §)70Y AN AINIINY 1N AN 22 INDT a4Y HaN

However according to the 3129 who maintain that wild animals cannot be

domesticated and it is the custom of a wolf to be n=, then -
= OYY P ODYUN ) TYIN ND 25

Even if he was not forewarned he also has to pay a w'"i The difficulty of
establishing the Xn>72 according to the 7127 will be either why the lion should pay a "1 for 79°70
(if it is not a Y1), since it is not 717K, or (if the lion is a 7¥1) why is it necessary for the 2XT to
be a ¥ (since it is 17V T AKX).

mooIN rejects a possible explanation:
= FP9INI YN 1PN ND ANT DIT18D NNHIAN TIRYNY PHTIND

And it is unwieldly to establish the xn>392 in different situations; the wolf pays a
v"1 without a warning (for it is 717 X) and the lion pays a "1 only when he was

forewarned and became a 71 (since it is 7% 70X XY). The difficulty inherent in this
suggestion is self evident.

mooin asks a different question:
=199 ATIIN NHNT RNYN PHYT RPHDT INNYI 9IXRN ON)

And if you will say; according to the current view that this 79°7v is a 7790 of

197 (and he is 2’17 a w"1 since it was 7Y°X7), then -

= PPN 98N 1DV R$NPYH22 VP INNIN
Why does the Xn*92 mention that the animals entered into the 215177 9%1? If they
are 177 7720 they are always 21 (a w"1 if 79°X) wherever they are! Only 7% has a requirement
that it take place in the P17 7xn.

> See “Thinking it over’ # 1.
® According to this interpretation the term 771 is all inclusive; however the xn92 follows only the view of X"
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Mo0IN answers:
105290 MY VT Y M1 IMNTPY NN TYINRT 19937 VP ANT DIVN MY YN

And one can say; the Xn> 72 mentions P17 %17 on account of the (domesticated)
wolf. For since he became a m1v? v (after he was domesticated and lost his
status as a VY 7¥M), the aXT then reverts to his original status (before he was
domesticated) when it was 91707 7°17X, so if he is 9710 now (after 7v»X7) it will be

considered J& which is 2''5792 9995. Therefore the Xn>12 has to state prim ¥ where 10 is
8
27n.

SUMMARY

The ¥n>72 may follow the view of 7127 X" (and we are discussing only a lion)
and he 1s 217 a ¥"1 since 7V»X; or the Xn72 follows only the view of X"7 (and we
are discussing all animals); however according to the 7127 there is no need for TyX.
A domesticated 28T who was m171% 79X reverts to his original status, and if he was
77v it is considered ¥ (and not a TY»X7 17p).

THINKING IT OVER

1. Why is it necessary to establish the Xn™72 in a case where it was 7v>°X (and have
the difficulty why only 1171 2xm32),” when X1°27 could have said that it was not 79
and the Xn> 12 follows the view of ©'"9 that 10]‘1|? pays a pria nxna w"an!!

2. mpoIn explains that the XN°°72 mentions P7°177 7X7 on account of 28T who reverts
back to W/.lz If this is so, why does the X713 ask that the Xn>72 should not be
explaining w7 77210 (but rather 77 77990)? It is explaining w7 77210 by a axr!?

"1t is evident (from his becoming a 7¥) that his (attempted) domestication was in vain.
¥ See “Thinking it over’ # 2.

? See footnote # 5.

' We are now assuming (anyway) that the Xn»92 is discussing 177

' See (X"wAmnY) 2" 1 on the previous (7"X2) X1 7"7 N1OMN.

12 See footnote # 8.

B See X"wmn.
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